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HETICTIET 139 %1 dgd GIFeT] & Jigq 3R 37T &l & JIei BT :

(i) FHIH-TTH HTI13 FHE |

(i) @Y I97 AT & | I9%F F97 F GHET 37k HiHd [0 7T & |

(iii) 3G YIT-97 H 2 37 & 5 J94, 3 3Pl & 5 J97 TAT 5 3Hl & 3 Jo7 8 /

(iv) 2 37H] qI7 J97 TG-ITIT J97 & 7T 379 I 30 - 50 Y5l (§9%) H e |
(v) 8 3HI FIcT FIT 4 TY-ITIT F¥7 & TIT 39% I 50 — 80 Ieg] (I9%) 7 Ffw /
(vi) 5 3] FIct 97 H-3IT0T 97 & 7T 59% I 80 — 120 Y531 (Y3%) H v |

(vii) H¥7-Y7 P15 GHY 19 78 & | §cTlish, $& Jo71 § ATARD [deheqd 517 13T
7T F | Femed] vq Fedl 7 @ $aci Tb 97 H & IR G |

(viii) 5 Y97-YF H &/ GId STRT 357 47 & /

1. (%) 3l Jrdldes Hohal W] 3G T 16,000 HUS 7 qAT IdHM el I
dhdl TR 341G T 20,000 HUS &, A1 eI goehlsh o HMH <hl TUM]
HITU | 9
YA

>

(@) | HR g, FEiiRgd sl ¥ieh 9 YaTg IU H Jifiehd Iy 2
(i) 99 2020 — 21 % A g I IcUTeH
(i) Tof@ 99 2020 — 21 H YT TAHTGEAT bl T 3T

2.  “9Td H 3Tk forehTE qATERulY HWEATSAT hl Icafd ok |y g3 @ |

T Y 1T U e[ I TgAd & ? 3794 I ol HI= dehl g1 THY hifsu | 2
3. “ugl & § wr hl Uehfd UHIU & gk ' |7 fGU MY HYA H1 Ay
LIS g0 dHeH hIfSu | 9

4. (%) I8 fen w1 2 5 & wouHe Ado¥aEm w1 IUNT HoH,
C=100+0-8Y &, & C = IUHFT 41 Y = 3T |

TUHT IS - 2
()  HWa s=d Ygid (MPS) &1 Jed
(i) H-31T fog (Break-Even Point) T 3 &l &
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 13 questions.

(11)  All questions are compulsory. Marks are indicated against each question.

(itt) This question paper contains 5 questions of 2 marks each, 5 questions of
3 marks each and 3 questions of 5 marks each.

(iv) 2 marks questions are Short Answer Type Questions and are to be
answered in 30 — 50 words each.

(v) 3 marks questions are also Short Answer Type Questions and are to be
answered in 50 — 80 words each.

(vi) & marks questions are Long Answer Type Questions and are to be
answered in 80 — 120 words each.

(vit) There is no overall choice in the question paper. However, internal choices
have been provided in few questions. The candidates need to attempt only
one question from such questions.

(viit) This question paper contains Case/Source Based Question also.

1. (a) It the Real Gross Domestic Product 1s ¥ 16,000 crores and Gross
Domestic Product at current prices 1s ¥ 20,000 crores, calculate

the value of price index. 2
OR
(b)  Giving valid reasons, classify the following into stock and flow
variables : 2

(1) Production of wheat during the year 2020 — 21

(1) National Income of Indian Economy during the financial
year 2020 — 21

2. “Economic development in India has been accompanied by environmental
concerns.”
Do you agree with the given statement ? Give valid reasons in support of
your answer. 2
3. “The nature of work in urban areas is different from rural areas.” Justify
the given statement with a valid explanation. 2
4, (a)  You are given the consumption function of an imaginary economy,
C =100+ 0-8 Y, where C = Consumption and Y = Income.
Calculate : 2

(1) The value of Marginal Propensity to Save (MPS)
(11) The level of income at Break-Even Point

OR
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(@) S=-60+01Y, SadBeH 2, I8l S =dad d Y = U 3 qT
FYIFET | o9 =9 (I) = T 4,000 FHUS 7 |

T o Aqed &’ (Equilibrium level) Sl 70T ShiNT | 2
5. (%) e ThEl dsgasen ¥ Faited s=a, Fetea faw | s1fass 2, af s9e!
3T J USHTR W US4 dTed T T9Td &1 3gE <hifU | 2
AT
(@) 3Jfe frEt Adeyaeer § HAiNa s=d, HIifea Mo @ 9 2, df 9
3ATET F USR W US4 dTel GHTIId I9Td bl 3g@ <hIaT | 2
6. 1970 o Ik oh Ad H, YA ohl 37U =9 <hl JHEEAT H ool 9 @S 3Ir=h
2ﬁ|”
39 gifedfd & hIur 9 Y99 ki T HIfSU | 3
7.  TorHl Use 4 wWeey fRuTd ol O99 H e foheal &l Hehdehl ol 3@ d TS
ShITTU | 3
8. U8 HHd 8¢ foh, Ha™ # gitadd (AI) = T 4,000 HUS qAT HHT 3TN Jgi
(MPC) = 0-5 &, a1 7ureh (K) Sl 1 gfshat &l &q § Tae=mT ity | 3
9. YA 3R YTiehed™ ¢RI AYATS T8 fohral @l THE faenm@rcdss WHIfGAT i AieTed
faa=ET shitole | 3
10. () 3 o =hiT (ddal) YaT8 o (1= =0M shl 989 H ReAT hIT | 3
PG

(@) 3l fredt AYeyaedr o, drdide HFha el 341G (Real GDP)
T 300 HUS 9 HeI b (YR = 100) 110 7, a1 Hilgeh Fehel HT]
301G (Nominal GDP) bl TUFT hifSTT | 3

11. () “SUHNT 95k 9 &=d ok Ueh-gH % QT a | o1 319 39 YT ¥ HgHd
3 2} IO gRI SIREAT shifay | 2

(@) “ et ° aehifa i feufa ot Fata @ o agg d 2 17
[Cqult shifolg | 3
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(b) S =-60+ 01Y is the saving function, where S is Saving and
Y 1s National Income and Investment Expenditure (I) 1is
< 4,000 crore in an economy.

Calculate the Equilibrium level of Income. 2
5. (a) If planned savings exceed planned investments in an economy,
state 1ts likely impact on output and employment. 2
OR

(b) If planned savings fall short of planned investments in an
economy, state its likely impact on output and employment. 2

6. “In the late 1970s, China’s population growth rate had sharply declined
as compared to India.”

Elucidate the reason and impact of this situation. 3
T State and discuss any two indicators that help in measuring the health

status of a country. 3
8. Discuss briefly the working process of investment multiplier (K),

assuming that Change in Investment (Al) 1s ¥ 4,000 crore and Marginal

Propensity to Consume (MPC) is 0-5. 3
9. Discuss briefly any two similar development strategies followed by India

and Pakistan. 3
10. (a) DBriefly explain the different phases of circular flow of income. 3

OR

(b) In an economy, if the Real Gross Domestic Product (GDP) is
T 300 crore and Price Index (with base = 100) 1s 110, calculate the

Nominal Gross Domestic Product. 3

11. (a) “Consumption and saving curves complement each other.” Do you
agree with the statement ? Explain with valid reasons. 2

(b)  “Taxes help to curb deflationary situation in the economy.”
Comment. 3
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12. (&) T=faRad ATdst & gzt foo U 9, oy fafy 9 = fafy gF1 @

HHTH ﬁ?ﬁ % : 5]
) (T =Uis )
(i) |3g TG () 60
(i) | 3G T 150
(iil) | T ATRIY 740
(iv) | U] ol TS 1,400
(v) |Tacen @ 9red 3g A9 A 40
(vi) | Ta-taiferal 6 a1 1,000
(vii) | 30 e Trh geft fmior 500
(viii) | 2T § qiEdH (-) 100
(ix) | geaB™ 100
(x) | Tt Afam 39y == 2,000
(xi) | ETAT Tdq IUHT = 1,000
HAAT
(@) () TAfaRgd 3fiehsl ¥ YT SRS i TUET hHifod 2
E asr
a3 (T S H)
(1) | SHIATRET AT ITiLHe 300
(i) | 3TIAL T 200
(iii) | TR Yot ST WA 100
(1v) | 349q o0
(v) |ETEH AN 9 Hehed =ie] 391G (GDPy,) 650

(i) Tocem ® 9T I[g 199 3T™ & o9 &I 9l Hl 93T § Sooid

g ==l <hI9u | 3
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12. (a) From the following data, show that the National Income will be

same from both Income Method and Expenditure Method : 5
S. No. | Items (ir??iligie)
(1) | Net Exports (—) 60
(11) | Net Indirect Taxes 150
(111) | Operating Surplus 740
(iv) | Compensation of Employees 1,400
(v) | Net Factor Income from Abroad 40
(vi) | Mixed Income of Self-Employed 1,000
(vi1) | Net Domestic Fixed Capital Formation 500
(vii1) | Change in Stock (=) 100
(1x) | Depreciation 100
(x) | Private Final Consumption Expenditure 2,000
(x1) Goverm:nent Final Consumption 1.000
Expenditure
OR
(b) (1) Calculate the operating surplus from the following data : 2
S. ltems | Amount

No. (in ¥ crore)
(1) | Compensation of Employees 300
(11) | Indirect Taxes 200
(111) | Consumption of Fixed Capital 100
(1v) | Subsidies 50

(v) | Gross Domestic Product at Factor Cost

(GDP,,) -

(11)  State and discuss briefly the three main components of Net
Factor Income from Abroad. 3
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Sa/ara raTiRa avA

HEFICTGd el &1 €F19de% gl | 18U 7T el q T fda% & 3R T F9
g 13 (&) 7 13 (@) & I Ffav

ST o FgA | foehiyd Hifd ST gEehish, 77 Hdd faet® @& Hehddh
(SDG indicators) 9 56 &l &3 bl 1oh hidl & | Tdd ok @& (SDGs)
TATIR—RTOT <hl I J qn 9t &0 W SDGs A Wrtd et gomedt zenfud @

N OO

o ToTu Hfifd T 4 2021 — 22 ° SDG W8l hleh 9 S3Els foaehidd fham 7 |

T8 YAhTeh foHA &Y o TR W SDG TR AT LA 1 T 6l e
T | Hifd T o 3ER, Ig YAl Athsl ol T o faifdn gomferi
! G o HHAT T Ih1Y STeAdl 8 | 39 Gahleh H Yk IUHW Teh UH
gTifedtaes o o1 fAmior i foam gt fgdumenl i 3AThsl & MR 9 o
o1 9 SN i | HgEal et |

fifq e &1 T B f6 awa | fasem & wfasy 1 FR@ET IR FE d gER
& 9 WEd &l i ded! JHEdT % HedsR I8 Iidadd Il 37&vdes & | 34
o § AMHIT 56 0 &1 H § 44 Y& U Hiclad | AT TEre) ar
ML E |

Hifd TR o AR I SDG o fofu 18t &= &l 0 — 100 o YA 9T 79T
T g | €l oh T BT Y 7 Tob =AM &1 4 2030 ok FHYa &l shi JTitd e
Tl g | I % TR T 7Y 7 fob 9 I & AaiH Tl ITed i § de
@210 — 49 % ThR YTed A Tl WG ohl Teh1gl T o €Y H W@ T g,
50 — 64 AT &L hl IHIHL HaT T 7, 66 — 99 & i BT g 100 ThK

JTA IEU hl =98 el T 7 |

Gid : The Economic Times; November 23, 2021 (Modified)
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Case/Source Based Question

Read the following text carefully. Answer questions number 13 (a) and 13 (b) on

the basis of the given text and common understanding :

The NITI Aayog Index developed in collaboration with German
cooperation, ranks 56 urban areas on 77 Sustainable Developmental
Goals (SDGs) indicators. In its journey of localization of the Sustainable
Development Goals (SDGs) and creating SDG’s progress monitoring
system at all levels, the NITI Aayog has developed the SDG Urban Index
and Dashboard in 2021 — 22.

The index will strengthen SDG localization and institute monitoring at
the wvarious cities level. According to the NITI Aayog, this index
highlights the strengths and gaps of data monitoring and reporting
systems. The tools used in the index will contribute to the creation of an
ecological system in which all stakeholders will be equipped to adopt and

implement data-driven decision-making.

The NITI Aayog 1s of the view that this transformative change 1s quite
essential, given the increasing prominence of our cities and urban areas
in charting the future of development in India. Out of 56 urban areas

ranked in the index, 44 are with population above one million.

As per the NITI Aayog, for each SDG the urban areas are ranked on the
scale of 0 — 100. A score of 100 implies that the urban area has achieved
the targets set for 2030. A zero score implies that it is the farthest from
achieving the target among the selected urban areas. The areas with
score between 0 and 49 have been ranked as aspirants, those with
50 — 64 are termed as performers, 66 — 99 are called front-runners and

ones with perfect score are called achievers.

Source : The Economic Times; November 23, 2021 (Modified)
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13. (%) Hdd fdehm Ted i | Hifd TR gerehleh gRI SMHA fheal I =Lull <hl
STEIT <hIToTU | 2

(@) “wr& &=+ 0 — 100 o 99 W 7T e |7
T AT 2T 3AYATE T8 LT YOIt shl ST <hifau | 3
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13. (a) Outline any two steps involved by the NITI Aayog index in

attaining sustainable development. 2
(b)  “Urban areas are ranked on the scale of 0 — 100.”
Elucidate the ranking system adopted by the NITI Aayog. 3
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